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PACIFIC ACADEMY OF HIGHER EDUCATION
AND RESEARCH UNIVERSITY, UDAIPUR

SECTION – B

Psychology

Max. Marks – 100

Roll No. (in figures) _______________________________________________

Roll No. (in words) ________________________________________________

Signature of the Candidate ___________________________________________

Signature of Invigilator's 1. _____________________2. ___________________

Instruction for Candidates:
Attempt all 50 questions, each question carry 02 marks. There is no negative marking. Please
mark the correct answer as A/B/C/D at appropriate place, on the right hand side of the
question, in blue or black ink.

Q1 According to Hebb which is the main basis of perception
A Phase Sequence C Trace Mechanism
B Cell Assembly D Synaptic Junction

iz- 1 gsc ds vuqlkj izR;{k.k dk eq[; vk/kkj gS &
A voLFkkØe C fpUg izØe

B dksf”kdk laxzg D laf/kLFyh; lEca/k

Q2 Stimulus + Meaning =
A Learning C Sensation
B Response D Perception

iz- 2 mn~nhid + vFkZ =
A vf/kxe C laosnuk

B izfrfØ;k D izR;{khdj.k

Q3 Height cue is ............ cue.
A Monocular C Convergence
B Binocular D None

iz- 3 m¡pkbZ ladsr ----------------- ladsr gS
A ,duS=h C vfHkfcUnqrk

B f}uS=h D dksbZ ugha
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Q4 Opposite of Perceptual Vigilance is ---
A Perceptual Constancy C Perceptual Defence
B Perceptual Organization D Illusion

iz- 4 izR;{kijd fuxjkuh dk foykse gS &
A izR;{kijd fLFkjrk C izR;{kijd j{kk

B izR;{kijd laxBu D Hkze

Q5 If Brunswik ratio is zero, it means that perceptual constancy is --
A Optimum C More
B Zero D Less

iz- 5 ;fn czquLohd vuqikr “kwU; gS] bldk rkRi;Z gS fd izR;{kijd fLFkjrk gksxh
A mfpr C vf/kd

B “kwU; D de

Q6 Who is Gesatltic Psychologist ?
A Werthiemer C Koffca
B Kohler D All of the above

iz- 6 fuEu esa ls xsLVkyV euksoSKkfud gS &
A ojnkbej C dks¶dk

B dkWgyj D mijksDr lHkh

Q7 In which approach of perception the base of perception is need and values
A Gibsonian C Directive State
B Gestalt D Information Processing

iz- 7 fdl mikxe esa izR;{khdj.k dk vk/kkj vko”;drk o ewY; dks ekuk x;k gS &
A fxClksfu;u C funs”k voLFkk

B xsLVkyV D lwpuk lalk/ku

Q8 According to Tollman extiction process is
A Active C Repressive
B Passive D None

iz- 8 VkWyesu ds vuqlkj foyksiu izfØ;k gS &
A lfØ; C neukRed

B fuf’Ø; D dksbZ ugha

Q9 In .......... principle, reinforcement and practice are useless.
A Tollman C Guthrie
B Kohler D Bandura

iz- 9 ------------------- fl)kUr esa iquZcyu o vH;kl egRoghu gS &
A VkWyesu C xqFkjh

B dkWgyj D ckUMqjk
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Q10 Who said “All forgetting must involve new learning
A Skinner C Pavlov
B Hull D Guthrie

iz- 10 lHkh rjg ds foLej.k esa D;k lh[kuk fuf”pr :i ls lfEefyr gksrk gS] fdlus dgk &
A Ldhuj C ikoyko

B gy D xqFkjh

Q11 Observational learning is nearly a .................. learning
A Cognitive C Insightful
B Pavlov D Maturity

iz- 11 izsj.kkRed vf/kxe ,d rjg dk ---------------- vf/kxe gS
A laKkukRed C vUrZn`f’V

B ikoyk¡o D ifjiDork

Q12 Duration is very less in ................memory
A Iconic C Short Term Memory
B Echonic D Autobiographical

iz- 12 ------------------- Lef̀r esa vof/k lcls de gksrh gS
A izfrek lEca/kh C y?kqdkfrd

B izfr/ofu lEca/kh D vkRepfjr

Q13 If  Retrival = X, Storage = Y and Encoding = Z which is the correct order
A X – Y – Z C Z – X – Y
B Y – X - Z D Z – Y – X

iz- 13 ;fn iqu%izkfIr =X, la;er =Y rFkk dwVladsrd =Z, dkSulk lgh Øe gS &
A X – Y – Z C Z – X – Y
B Y – X - Z D Z – Y – X

Q14 Which memory can be included in sensory memory
A Episodic C Echoic
B Semantic D Procedural

iz- 14 fdl Lèfr dks laosnh Lef̀r esa j[kk tk ldrk gS &
A izklafxd C izfr/ofu

B vFkZxr D dk;Zfof/k

Q15 Which psychologist is related with ‘Eyewitness testinomy’
A Loftus C Norman
B Baddeley D Broadbent

iz- 15 euksoSKkfud ^izR;{kn”khZ lk{;^ ls lEcaf/kr gS &
A ykW¶Vl C ukWeZu

B cSMyh D czkMusUV
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Q16 According to Miller capacity of Short Term Memory is
A 7±1 C 7±2
B 8±1 D 7±2

iz- 16 feyj ds vuqlkj y?kqdkfyd Lèfr dh {kerk gS &
A 7±1 C 7±2
B 8±1 D 7±2

Q17 According to Paterson and Paterson duration time of short term memory is
A 6 second C 18 second
B 10 second D 30 second

iz- 17 isVjlu ,oa isVjlu ds vuqlkj y?kqdkfyd Lèfr dk vof/k le; gS &
A 6 lsd.M C 18 lsd.M

B 10 lsd.M D 30 lsd.M

Q18 Who developed Phonolgical Loop Model
A Brodnent C Norman
B Baddeley D Atkinson

iz- 18 /ofuxzkeh ywi ekWMy dk izfriknu fdlus fd;k &
A czkMusUV C ukWeZu

B csMyh D ,VfdUlu

Q19 Which is not always included in thinking
A Language C Symbol
B Concept D Sign

iz- 19 dkSu fpUru esa ges”kk lfEefyr ugha gksrk gS &
A Hkk’kk C izfrek

B laizR;; D izrhd

Q20 Functional Fixedness is related with ........... charaterstics
A Work C Experimental conditions
B Problem  Solver D None of the above

iz- 20 dk;kZRed vVyrk ---------------------- fo”ks’krkvksa ls lEcaf/kr gS &
A dk;Z C iz;ksxkRed ifjfLFkfr;k¡

B leL;k lek/kkudrkZ D mijksDr esa ls dksbZ ugha

Q21 More emphasize on Functional Fixedness is given by
A Duncker C Duncker & Luchins
B Duncker & Maier D Maier

iz- 21 dk;kZRed vVyrk ij fdlus vf/kd cy fn;k &
A MUdj C MUdj o yqfpUl

B MUdj o ek;j D ek;j
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Q22 According to Piaget which is not a tool of thinking among children
A Symbol C Play
B Sign D Language

iz- 22 fi;kts ds vuqlkj cPpksa esa fpUru dk lk/ku ugha gS &
A ladsr C [ksy

B fpUg D Hkk’kk

Q23 Role of Problem solver is ............... in incubation
A Active C Both Active and Passive
B Passive D Can’t Say

iz- 23 mnHkou esa leL;k lek/kkudrkZ dh Hkwfedk --------------------- gksrh gS
A lfØ; C lfØ; o fuf’Ø; nksuksa

B fuf’Ø; D dg ugha ldrs

Q24 Eros and Thantos are
A Motives C Drive
B Need D Instincts

iz- 24 bjkst o FksUVkst gSa &
A vfHkizsjd C vUrZuksn

B vko”;drk D ewy izo`fr

Q.25 Thirst is a ................... need
A Cyclic C Specific
B Non-cyclic D Primary

iz- 25 I;kl ,d ----------------- vko”;drk gS
A pØh; C fof/k’V

B vpØh; D izkFkfed

Q.26 If Ventromedial hypothalamus is destroyed than organism feel
A more hunger C more thrist
B less hunger D less thirst

iz- 26  izk.kh ds osUVjksfefM;y gkbiksFksysel u’V gks tkus ij og vuqHko djsxk &
A vf/kd Hkw[k C vf/kd I;kl

B de Hkw[k D de I;kl

Q.27 Which organ is not important for homeostasis
A Thalamus C Cerebellum
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B Hypothalamus D Pareital Lobe
iz- 27 lefLFkfr esa dkSuls vax dh Hkwfedk vR;f/kd egRoiw.kZ gS

A Fksysel C y?kq efLr’d

B gkbiksFksysel D vxzikfy

Q.28 Need for Achievement is best measured by
A Questionnaire C Thematic Apperception Test
B Rosrch Test D Blacky Test

iz- 28 miyfC/k vko”;drk dk mÙke ekiu fd;k tkrk gS
A iz”ukoyh C fo’k; vkRecks/ku ijh{k.k

B jkslkdZ ijh{k.k D Cysdh ijh{k.k

Q.29 ........... need is mesaured by Obstruction method
A Animal C Male
B Man D Female

iz- 29 vojks/k fof/k }kjk ----------------- dh vko”;drk dk ekiu gksrk gS
A i”kq C iq:’k

B euq’; D efgyk

Q.30 Zeigarnick Ratio =
A 1 : 1 C 2 : 1
B 1.5 : 1 D 1 : 2

iz- 30 tsxkjfud vuqikr =
A 1 : 1 C 2 : 1
B 1.5 : 1 D 1 : 2

Q.31 The clear role of .................... is present in origin of emotions
A Reticular Formation C Cerebellum
B Thalamus D Hypothalamus

iz- 31 laosx dh mRifÙk esa  ----------------- dh Li’V Hkwfedk gksrh gS
A jsfVdqyj QkWjes”ku C lsjhcsye

B Fksysel D gkbiksFkysel

Q.32 Weschler defined intelligence on the baisis of ............... approach
A Atomist C Molar
B Global D Psychometric

iz- 32 osbyj us cqf) dks ifjHkkf’kr djus esa fdl mikxe dk lgkjk fy;k 
A vk.kfod C eksyj

B oSf”od D euksfefrd
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Q.33 ‘Intelligence is like and electricity easy to measure but difficult to define’who said ?
A Spearman C Jensen
B Binet D Gardner

iz- 33 ^cqf) dj Lo:i fctyh ds leku gksrk gS ftls ekiuk vklku gS ijUrq ifjHkkf’kr djuk eqf”dy gS ^
fdlus dgk &
A Lih;jesu C tsulu

B fcusV D xkMZuj

Q.34 First intelligence test was developed by
A Wechsler C Raven
B Binet Simon D Goodenough

iz- 34 izFke cqf) ijh{k.k dk fuekZ.k fdlus fd;k
A osbyj C jsosu

B fcusV&lkbeu D xqMbuQ

Q.35 Jensen research suggest that variability of intelligence is due to ...... environmental and
.......... herideity reasons
A 80%    ;    20% C 50%    ;    50%
B 20%    ;    80% D 60%    ;    40%

iz- 35 tsulu “kks/k izfnZ”kr djrs gS cqf) esa ifjorZu”khyrk ---------- i;kZoj.kh] ---------- vkuqoaf”kdrk dkj.kksa ls
gksrh gS
A 80%    ;    20% C 50%    ;    50%
B 20%    ;    80% D 60%    ;    40%

Q.36 According to Thorndike type of intelligence is
A Social intelligence C Concrete intelligence
B Abstract intelligence D All of the above

iz- 36 FkkWuZMkbd ds vuqlkj cqf) dk izdkj gS
A lkekftd cqf) C ewrZ cqf)

B vewrZ cqf) D mijksDr lHkh

Q.37 ‘Intelligence is what intelligence test measures’who said ?
A Jensen C Robinson
B Weshler D Boring

iz- 37 ^^cqf) ijh{k.k tks ekirk gS ogh cqf) gS^^ fdlus dgk & 
A tsulu C jkWfcUlu

B os”yj D cksfjax

Q.38 Businessmen have more .......... inteliigence
A Social C Concrete
B Abstract D Cognitive

iz- 38 O;kikfj;ksa ds  ----------------- cqf) vf/kd gksrh gS
A lkekftd C ewrZ
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B vewrZ D laKkukRed

Q.39 When was the fifth revision of Standfort-Binet Intelligence Test was done
A 1960 C 2003

B 1986 D 2007

iz- 39 LVS.MQksMZ&fcusV ds cqf) ijh{k.k dk ik¡pok la”kks/ku dc gqvk
A 1960 C 2003

B 1986 D 2007

Q.40 Who has given 50 definitions of Personality
A Eysenck C Allport
B Berger D Child

iz- 40 O;fDrRo dh 50 ifjHkk’kk,¡ fdlus nh
A vkbtsUd C vkyiksVZ

B cxZj D pkbYM

Q.41 Dysplastic type is similar to 
A Endomorphy C Mesomorphy
B Ectomorphy D Complex

iz- 41 fo”kkydk; izdkj ----------------- ds leku gS
A ,.MkseksQhZ C eslkseksQhZ

B ,DVkseksQhZ D tfVy

Q.42 Who worte the book ‘Psychological Types’
A Jung C Krestchmer
B Sheldon D Spranger

iz- 42 iqLrd ^lkbDyksfudy VkbZIl^ ds ys[kd gSa &
A tqax C Øs”pej

B “ksYVu D Lizsaxj

Q.43 Cattell’s 16 P.F. Questionnaire is based on 
A Regression C Cluster analysis
B Factor analysis D ‘t’ test

iz- 43 dSVy dh 16PF iz”ukoyh vk/kkfjr gS
A izfrxeu C xqPNu fo”ys’k.k
B dkjd fo”ys’k.k D ^Vh^ ijh{k.k

Q.44 Which is considered bilogical component of personality
A Id C Super Ego
B Ego D Zero-ego

iz- 44 fdls O;fDrRo dk tSfod rRo ekuk tkrk gS
A bn C ijkga
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B vga D “kwU; vga

Q.45 Acting Childih is which defence mechanism
A Repression C Projection
B Regression D Displacement

iz- 45 cPps tSlk O;ogkj djuk dkSulh j{kk;qfDr gS
A neu C iz{ksi.k

B izfrxeu D foLFkkiu

Q.46 Who wrote ‘The study of Organ inferiority and its physical compensastion’
A Allport C Adler
B Sullivan D Sheldon

iz- 46 ^n LVMh vkWQ vksxZu bufQ;jhfyVh ,.M fQthdy dEiu”kslu^^
A vkyiksVZ C ,Myj

B lqyhoku D “ksYMu

Q.47 Standardized test should necessarily have
A Relibaility C Norms
B Validity D All of the above

iz- 47 ekuohd`r ijh{k.k esa vko”;d :i ls gksuk pkfg;s
A fo”oluh;rk C ekud

B oS/krk D mijksDr lHkh

Q.48 The growth of language and speech is controlled by
A Right Hemisphere C Cerebellum
B Left Hemisphere D Hypothalamus

iz- 48 Hkk’kk rFkk Hkk’k.k ds fodkl dk fu;a=.k djrk gS
A nk;k¡ xksyk)Z C y?kq efLr’d

B ck;k¡ xksyk)Z D gkbiksFksysel

Q.49 Smallest Unit of nervous system is
A Neuron C Neurotransmitter
B Axon D Cell Body

iz- 49 raf=dkra= dh lw{ere bdkbZ dkSulh gS
A U;wjksu C U;wjksVªkalehVj

B ,DlkWu D dks”k “kjhj

Q.50 Maximum Speed of nerve impulse in human
A 100 mt per min C 100 mt per millisec
B 100 mt per sec D 100 mt per miccro millisec

iz- 50 euq’; esa raf=dk vkosx dh vf/kdre xfr gksrh gS
A 100 eh- izfr feuV C 100 eh- izfr feyhlsd.M

B 100 eh- izfr lsd.M D 100 eh- izfr ekbØksfeyhlsd.M
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Rough Sheet


